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GENERAL INSTRUCTIONS TO THE EXAMINEES:
L ol wdueR ST, TR R W e sifvaria: fore |
Candidate must'write first his / her Roll No. on the question paper compulsorily.
C2 i uw o i €
All thé questions are compulsory.
s o we @) SR & T Ser-gRea # & fod |
Write the answer to each question in the given answer-book only.
4. R e 3§ ariR® v ¥, O @l @ Sex UF Wl @ ford |
For questions having more than one part, the answers to those parts are to be written together in
continuity.
5, mqaa%i%aﬁammﬁﬁﬂﬁwaﬁaﬁ/m/ﬁﬂmwmm%ﬂwﬁm
B T A |
If there is any error / difference / contradiction in Hindi & English versions of the question paper, the
question of Hindi version should be treated valid.
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Threre are internal choices in Q.No.28 to 30.
T (37)

Part (A)
BT TS B I W Hew Ry
Write the two components of baking powder. (1)
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Write the name of reproductive process in the plants which.have lost the capacity to produce seeds. -

1
FART FHRNGT & GRATO] AR frRaT | !
Write the atomic weight of chlorine isotopes. (1)
fFrnfefe % & yaer st va waer e 8
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In the following strong acid and'strong alkaine base is- (at+¥%=1)
(a) Acetic Acid or Hydrochloric Acid
(b) Sodium hydroxide or calcium hydroxide

Mﬁqwﬁﬁmeﬁwwélwmﬁam%maﬁ@@ﬁm

The magnetic field.in.a given region is uniform. Draw a diagram to represent it, (1)
mmémmmmmwaaéu

Write the name of acidic oxides which are responsible for acid rain. (1)
Méﬁmwﬁﬁﬁwm(ﬂmm)ﬁqéﬁuﬁmﬁmaﬁmﬁgﬂwmﬁaﬁ@
ﬁlmaﬁﬁa}ﬁﬂﬂﬁgwgmﬁaaﬁaﬂﬁwmﬁm

A current through a horizontal power line flows east to west direction. What is the direction of
magnetic field at a point directly below it? (1)
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Part(B)
Yo dave s fr wed #2 R g3 g o Y R sffhar o)
What is combination reaction? Write combifiation reaction of quick lime with water. (1+1=2)
5.0, STW o A @ IR R fafed |
Write four characterstics of the good source of energy. (Vaxa=2)
u.ywaﬁ?ﬁﬁﬁmmzﬁwWWWWWWaﬁ?wﬁml
In night which type,of beam of light is used by drivers and why? Explain it (Vo+1Y2=2)
u?.,wmﬁmmmﬁml
Deséribe homologous organs with the help of example. (‘/z+1'/z-2)
y/gﬁ:%mma‘lﬁamﬁ%Wwaﬁaﬁ?sﬂwaﬁﬁmaﬂmﬁmmaﬁﬁm—
-@) e & IR
@) g R W
Why do we have two eyes for vision and not just one? Explain the fact on the basis of —
(a)  Field of view 1)
(b)  Dimensional view : (1)
14 Sraren & g R T 39 wwa Pk sfEm @ we S
Write the definition of fossils and explain the process of dating of fossil! (1+1=2)
S-07-Science V -1003 | Turn Over

More at http://career.caknowledge.in/



/Ms ((31)
(a)
(b)
 HT6. (31)

=
(a)

(b)

Download From h;;p'(é()files.caknowledge.in/

Part (C)
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Write the chemical reaction of the photosynthesis and events occure during the process. (2)
Which type of mirror is used in head lights of vehicles? ' (1)

Afgas TR |q SIE BME Wifda 8T 87 WA & U@ B forfad |
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Which hormone is secreted by Adrinal glands? Write any one function of this harmone.
(1+1-=2)

Write any two function of betteries in vehicle., (1)
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What is redox reaction? In the reaction ZnO+C—Zn+CO which substance gets oxidised and which
gets reduced? - (1+14+1=3)

/v/(ﬂ)
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(b)
(c)
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Write down formula for the magnification obtained-by a spherical mirror. o (1)
Name a mirror that can give an erect and eniarged image of an object. (1)
Define the principle focus of a convex mirrer. (1)

/mg. ufdadlt =@ o1 It o sHrer. afaadt frar a9smsd |

Draw a labelled diagram of reflex arc and explain reflex action. (142=3)

Pl Hid X B Bed Y I GAfTR DI ~

(i)
(i)
(iii)

(iv)

wx(ﬂ*ﬁzﬁwﬁr/ﬁm) i Y ()
R=R,+R,+R{S)
\ / (b) p=RA/E
1 1 1
3N ﬁ?ﬂ S e
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\\ (e)

vy S B wad s | 1=art (1)
(iv) TR A EE S ® V=R (T~
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Match the column X to column Y " (Vax6=3)
Column X (Physical Quantity/Law) Column Y (formula)
(i) Electric current (a) R=R;+R;+R;
(ii) Potential difference (b} p=RA/?
(i) ~Ohm's Law (c) L = 3 + B
R R, R,
(iv) Resistivity (b) V=W/Q
(v) Series combination of resistor's (e) I=Q/t
(vi)  Parallel combination of resistor’s (f) V=IR
u.zl,-aﬁmwﬁﬁaﬂaﬁﬁm%’,aawm?ml
If an egg is not fertilized then what happens? Explain it. (1+2=3)

%227 oEH B rSd fygia @t fofay |
fereiferRad & A R @A dTel 9l BT AW AR

(@)  FTEgISH
@  forformm
Write Newland’s Law of Octaves. (1+1+1=3)

Write the name of element having similar properties of the-following.
(a) Nitrogen
(b)  Lithium : N
523, pH @a f5d F8d 22 We o3 % 48 #1pH URE T &7 SR 7 |
2N What is pH Scale? Explain that pH change of the mouth is cause of tooth decay. (142=3)
w24, 600W STTHT FT 1S faeg Wlowey 8 ©e /fa I@mn i 21 4.00 T 9 KWh @ R & 39
30 R a% T & forg ST, T Heu @ 87

An electric refrigerator rated 600 W operates 8 hour/day. What is the cost of the energy to operate it

for 30 days at Rs.4:00 per KWh? ‘ (3)
T (3)
Part (D)
Y25 (@) SER skaen | T Afwurg 27
‘@) U B A H MR sfEen P SERY §RT qHIEY |
A0 e uRea § St watE B AR g W I |
(@)  What do you mean by food chain? (1)
(b)  Explain the food chain in grassland with an example. )
(c)  Explain the energy flow in an ecosystem with help of diagram. @)
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Which metal exists in liquid state at room temperature ? (1)
Write electronic configuration of nitrogen and chlorine atoms. @)

Show the formation of sodium chloride by the transfer of electrons between nitrogen and
chlorine atoms. @)

j./27. gEs gRT B gREre RT3 S PR el gila @ erifaf W iR
o1 AHifea oy a1y | 39 urr feem aReds @ wnsmsy

Define alternating current and explain working of the device which produces it. Draw labelled

diagram. Describe the change in direction of current. (142+1+1=5)
/v.zs @)  WIE w@EE I B AHifhd @B 99 |
@ Agel # Sifedio aur e T8 sifaaTse &1 uRded BBl 8, GASISY |
: ) AT
@) vauT P9 Fed &
@ P ol B U Bre BT AHifHa T aEd)
(@) uredl # Ao T =T qarell @ IR B GRS |
(@)  Draw a labelled diagram of human respifatory.system. e @)
(b)  Explain the transportation of oxygen-and sarbon dioxide in human beings. - (3)
Or
(@  Whatis respiration? (1)
(b)  Draw a labelled diagram of cross section of leaf. @
(c)  Explain the transportationof food and other substances in plants. @)
ya/(:ﬂ) o1 ¥ yom dugds &1 fBor R 913U den WA werw @ fduwr @ aRyewr &
T g,
@) o e S R e 3 AEw Y R #R
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(a)

Draw ray diagram of refraction of light through a prism and explain the phenomenon of

dispersion of light. (142=3)
(b)  Write the formula for lens power and define its unit. (141=2)
Or
(a) Explain the following-
(i) Atmospheric refraction and advance sunrise. @)
(i)  Tyndall effect. | @)
(i)  Draw the ray diagram of an eye suffering from short sightedness. (1)
H.V(GT) =i BT A forRay |
@ I BT EREAT A IIEY R e SuRed ey @) e fifay
(@) fFfafaa 4 4 v sl 87 g9 SuRera weEdieie dar Y e fikaw |
(i) C2H; (i) CaH4 (iii)’ CzHg
(a) Write molecular formula of benzene. (14242=5)
(b) Draw structure formula of benzene and write number of triple bonds present in it.
(c) Which is ethane in the following? Write number of co-operative bonds present in it.
()  CaH, (i)  CoHa (i) CoHe
Ferdar
Or
fory - - rgalReT BT SR ey | \
@) mmmwmmmwﬁwmmaﬁmwl
() frefaRea 5 & W Pl 82 gei suRerd Reg 9 we folkay |
(i) CuH; (i) CoHq (i)  CaHe
(a)  Write molecular formula of cyclohexane. (1)
(b)  Draw structure formula of cyclohexane and write number of co- operative bonds
present indt. @)
(c)  Whichis ethene in the following? Write number of double bonds presentinit.  (2)
(i) CoH3 (i) CoH4 (iii) CoHs
4
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